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1) Which of the following companies won the
International Business of the year Award 2014
at the Asian Business Awards Midlands in
Birmingham,UK,in May 2014 ?

1) Vedanta Resources  2) Arcelor Mittal

8) The reserve Bank of India constituted a committee
under the chairmanship of M.Damodaran to look
into banking services rendered to retail and small
customers,including pensioners and also to look into
the system of grievance redressal M.damaodaran 13

EBI 5) SBI

3) Tata Sons 4) Caparo group
5) None of these
2) Niwatthamrong Boonsongpaisan assumed office
as the interim prime Minister of which of the
following countries on May 7, 20147
1) South Korea 2) Thailand 3) Cambodia
4) Laos 5) Vietnam
3) According to the Sunday Times super-Rich List
who topped the United Kingdoms billionaire
charts in May-2014 ?
1) Hinduja Brothers
3) Alisher Usmanov
5) Prakash Lohia
4) Who will be India’s next Army Chief ? (He
Will succeed General Bikram who retires on
31% July 2014)

2) Lakshmi Mittal
4) Lord Swraj paul

1) Deepak Kapoor 2) V.K.Singh

3) Ved Prakash Malik 4) Dalbir Singh Suhag (\

5) None of these -
5) 20™ Senior National Women’s football

championship (It held in Golaghat in A

P

12™ May 2014) title winner is .. AN
1) Manipur  2) Odisha 3) Assam [ ‘“HH s
4) Kerala 5) Goa

6) Who is the All India Football F
women's player of the year?

W»““ /

1) Sakina Nesa fdﬁﬁ:ﬂ
3) Oinam Bembem Devi Sita’
5) Mandakini Devi

7) Which of the following ;atmentm nqt'cgm:
with regard to Basic saﬁn‘@ﬂank Qfepos.;l

Account (BSBDA)?

1) Under The BSB, anyﬁ_pdmdua]
can open ban um:,i

2) This accou ot a'u'E'ﬂ:;t requtmmem

of any mi mumn

m-: account will

3) The servige
inélude dhpﬂ;lt?i‘mi drawal of cash at
bank n::ha&we" ATMs

rited on the number of
made in a month, account
allewed a maximum of four

a month, including ATM

43 Iqhm isno |

eposits th
holders m%
with drﬁ'mg\ls,'

withdrawals’
5) Holders of BSBDA are also eligible for
Opening Other savings accounts in that bank

12)

the former chair man of 7
1) NABARD 2) FMC 3)PFR é

9) The International Orgamizati ities
Commission (10SCO) i 'a.ss::rmgunn f
organizations that regulate the rIH*s,secunne:;
and futures markets. fis- ers, are in?

) Paris, France £ 2) Madrid, §
3) L1sbnn Portu, L) 4;}; uni:lup LTK

an.nual

nal organization of
ssmns OSCO) from

r2,20147

2} pairs 3) Rio de Janeiro
5) London
The seCurities a:gJ Exchange Board of India{SEBI)
has-inked : a memorandum of understanding with

<\ £NV 1o ote mutual assistance and exchange
ion related 1o securities markets. CNV s
the stock market regulator of ?
rgentina 2)USA 3K 4) Philippines 5) Russia
silk is the rarest silk in the world
tivated only in 7
) ) Bihar 2) Madhya Pradesh 3) Assam
"> 4) Andhara Pradesh  5) Karnataka

11

",

.

x‘“ 13} Which of the following is the unit of resistance

1) Ampere 2) Ohm 3) Joule
4) Newton 5) None of these
14) Kashagan oilfield is located in which of the
following countries 7
1)Russia 2)China 3)Kazakhstan 4)lran 5) Venezuela
15) The Fertilizer Corporation of India(FCI) plant at
Talcher will be revived in three years.Talcherurea
plant is in which of the following states ?
1) West Bengal 2) Uttar Pradesh 3) Jharkhand
4) Odisha 5) Chhattisgarh
16) Which one of the following days is not
observed on a fixed date every year 7
1) World Environment day
2) International Women’s day
3) world Food day
4) World Human Rights day
5) World Habitat day
17) In 2013, huge protests took plam: in Taksim
square, which is in?
1) Cairo 2) Istanbul
4) Teheran 5) Ankara

3) Damascus




18) Abel prize is given for major contribution in ?
1) Physics 2) Chemistry 3) Astrophysics
4) Mathematics  5) Architecture

19) Cairn India is known for the production of 7
1) Milk-products 2) Textiles
3) Genetically Modifies Cotton
4) Petroleum 5) Iron

20) Singalila National park is located in the state of
1) Assam  2) Odisha 3) West Bengal
4) Sikkim 5) Manipur

21) The Voter Verifiable paper Audit Trail
(VVPAT) was used for the first time in
September 2013 in the Noksen by polls in?
1) Tripura  2) Mizoram 3) Sikkim
4) Nagaland 5) Manipur

22) All 25,000 candidates failed in the admission
test to a university in which of the following
countries in 20137

1) Pakistan  2) Bangladesh
4) Zimbabwe 5) Liberia

23) Which country will host India for five Cricket

Test matches in 2014, for the first time in 50

3) Kenya

years?
1) Pakistan  2) Australia 3) New Zealand
4) England  5) West Indies
24) Ug 99 rust disease has severely affected which
of the following crops recently ?
1)Paddy 2) Wheat  3) Bajra

4) Sorghum 3) Finger Millet
25) Which country banned hunting sharks for thei
fins in a move to protect endangered species-

20137
1) China 2) Indonesia 3) India 4) USA 5)
26) The Corporate Affairs Ministry will
centre of excellence and ethics in?
1) Ajmer 2) Gurgaon
4) New Delhi 5) Rajpur
27) Which of the following is/,

Rashtriya Uchchatar Shi

program 7

1) To set up newum : -

2) To upgrade exis Q/‘ ﬁm/ lleges to

universities

' Fund
hemes in post offices
4) RRBs  5) None of these

into force in the year?
1)2005 2)2006 3)2007 4)2008 35)2010

30) Who is the first law officer of the Government
of India?
1) Attorney General 2) Solicitor General
3) Chief Justice of India 4) Advocate General
5) Comptroller and Auditor General

31) The Chief of the Air Staff holds the rank of ?

1) Air Marshal 2) Air Commodore
3) Group Captain  4) Wing Commander
5) Air Chief Marshal

32) Sonepur hosts one of the world’s largest
Animal Fairs. It is a town in
1 ] (Odisha 2] Madh}-'a Praedg
4) Jharkand 5) Punjab
33) C-DAC is a research
organization-DAC

.Fathima Beevi
Anna Chandy  5) Justice G.Rohini
city is spread over two Continents 7
w 2) Lishon 3) Barcelona
bul 5) Strasburg
eighth schedule of the Indian Constitution
Deals with the ?
> 1) Fundamental duties
3) Union Territories
5) Land Reforms
37) Internet.org is a project aimed at bringing
affordable Internet access to additional 5 billion
people.It was launched at the initiative of 7

2) States
4) Languages

1) Larry page 2) Marissa Mayer
3) Mark Zuckerberg 4) Sergey Brin
5) Tim Berners Lee

38) A Permanent secretariat of BIMSTEC will be
established in ?
1) New Delhi, India  2) Thimphu , Bhutan
3) Dhaka, Bangladesh 4) Kathmandu, Nepal

5) Colombo, Sri Lanka
39) Which of the following organizations is
projected as a bridge between south Asia and
South East Asia 7
1DASEAN 2)SAARC3)BRICS 4)BIMSTEC 5)MIST
40) Which of the following cities is the capital of
Kazakhstan 7 '
1) Bishkek 2) Riga 3) Astana 4) Bamako 5) Zagreb




D:mhm-lfﬂ-t ﬂ-.m Rtndlht,ﬁﬂmamgpnaaﬁge
carefully fo answer these guestions giver below i, Certain
wards are giver in bold to help you to locate them while
arsvering some of the questions.

The income disparity in the new India is massive: 36
billionaires in India and 800 million people living on less
than $2 a day The challenge for achieving inclusive
growth relates to the revival of agriculture, Farming is
becoming a non-viable sctivity. A Confluence of factors,
from poor rainfall to the new availability of consumer
goods which consume much of [ndian families’ incomes,
has driven many farmers into erushing debt. The agricul-
ture sector has many problems with a growth rate of less
than 2% in the last decade. Further seope for increase in
net sown aréd is limited. Disparity in productivity across
regions and crops has persisted, Far from benefiting from
the economic boom many complain that banks don't offer
the rural poor credit, forcing them to turn to greedy
money-lenders, who typically charge up to 30% interest
or & four-month loan, Healtheare and education costs
have risen dramatically, while the global price of cotton
has beeome depressed, largely due to the billions of dol-
lare in subsidies Washington hands out to U5, farmers.

The approach to the revival of Indian agriculture
geems to be incremental, rather than a holistic strategy.
It is important to stress that growth and equity should be
pursued simultaneously rather than following ‘growth
first and equity next’ approach. What are the challenges
for achieving 4% growth and equity in agriculture? Folicy
makers like the National Commission on Farmers men-
tion eost reduction in agriculture as impertant to compets
in a globalised world, The most important problem for the
farmers is output price fluctuations, There iz a big gap
between producer prices and consumer prices. In order to
protect farmers from national and international price
volatility, a price stabilization fund is needed. The supply
and demand side constraints have to be removed to raise
grewth. The support syatems have to be tuned to imp
productivity and incomes of farmers with emphasis
emall and marginal farmers and dry land areas. O)
the differences between the green revolution
19605705 and the presant ‘second green revolution
Tisk iz higher in the latier approach as it
trate more on dry-land aress, Trade 1
also radsed the risk and uncertainty. Thus-.
to keep in mind the increasing
Agriculture policies have to be
the share of women I8 increasing! T,EE

per annum but horticulture -3
dairving, poultry and fisheribs

agnmltunlgrmrth.] 8 kno pinvestment in
agriculture is lowe; squirerients needed for
achieving -HE %rﬂ Nirmap' Programme is in
the right di it tl'lE to be much faster.
AL mg:?a al a challenge for
1. Duubhmghgnmlwa! h using &mn incremen-
Jfa]‘l.p?rtlﬂfh

3 xﬁggnhunqiﬁgnviﬂnhlhtrufcmumﬁ goods

3. Achigving and equity in agriculture

4. Hed of healtheare and education for the
poor & privatisation -

5. Maintaining a steady growth rate of 2% during
the next decnde

| 4%, Which of the following factors should the

Government take into consideration while

T S

framing agricultural policies?
A. Allied farm activities like horticulture should
receive less attention.

B. Incressed participation of woman in agricultural
sectaor
C. Reduced risk in agriculture owing to globalisation
1. Only (A) 2. Only(B) 3. Both (A) & (B)
4. All (A), & (B 4. All (A), (B), & (C)
b. None of these
43. What has prevented the rural poor from bene-
- fiting from economic growth?
A High rate of interest on bank creadit
B. Exploitation by money leanders .
C. Subsidies provided government to farmers

fre insufficient ’ E
"L Omly (C) \3 & (B)
L’Bq\‘)& ()

H
3, Omly (B) { .,
3, Nome of these ‘“&_\

44. Why are farmers facing cri debit?

A I.u:reaigd expenditure on itema

B. idi aqamt‘pmndadb}rthalndmnﬂtmt

mft‘hun have risen dramatically
“u' 2. Omly (A)
# 4, Both (A) & (B}
4\{\5 N\ﬁ.w@/m considered a feasible oecu-
, pa n?
LT jent land suitable for cultivation

ice stabilization fund introduced by the government

pid spread of road network has destroved agri-
= eultural land
_ /8. None of thess
48. What do policy makers feel is essential for
India's agricultural sector to be competitive
internationally?
Exactly replicating the green revalution of the 1960=
Reduce government intervention in the agricul-
tural sector to speed up progress
3. Removal of price stabilisation fund
4, Emphasizing more on economic growth rather
: than on inclusivencss
5, Mooe of these
47. Why is public investment in agriculture negli-
gible?
1. Government pmcndum for mveahuenl: in agri-
eulture are too tedious
2. Present government program-mes are ensuring
rapid progress
3. Cost of living has gone up
4. There are no tax concessions for investment in
agriculturs
5. None of these
48, Which of the following is not a means to
achieve 4% agricultural growth rate?
Stricter regulations governing demand and supply
Focus on increasing the income of small farmers
Attention to development of dry land
Coneentration on fisheries, ]:mill.r;r and *other
allied activities
5. Increasing public investment in agriculture
49. Which of the Tollowing is not rue in the context
of the passage?
1. Trade liberalization has reduced the uncertainty
in agriculture
2. Currently 4% growth in crop sector is not feasible
3. Indian families are spending more than what
they can afford on luxury items

L

Lol -8 N



ansiwer is (5). (Ignore errors in punctuation 1N 7
56, Governments amd businesses must iljf’fta ~/
own energy use (21 and promote m (30
[ their citizéns and mplu:reead;/w@ ;i'Tur -.‘3} ;
B57. g“:dhﬁ ::I:Eahuna {wg::: him {ﬂll’ “nfe
| to be true (3 he l‘auafwo;;uuu A0~
ment. (4¥ Nor error (6) '1, T
58, Having acquired so '[lfl"eft is mo
longer (2 one of £ G

4, Agricultural Emwth rate has remained stagnant
during the last ten years
6. Fluctustions in prices pose a problem to farmers
50. How does the government plan to ensure a 4%
growth rate in a‘;ricu]l'u.rﬂ‘ |
1. Providing licenses to unlicensed money lenders )
2 Shift focus from developing agricultural infra-
structure to pricing of agriculatural products I
3. Provide subsidies equivalent to those given in
the US ’
4. Maintain & 6% gmwﬂi rate in allied agricultural
- activities
5. None of these
Directions (Qs. 51-53); Choose the word which is
mast nearly the SAME in meaning as the word printed in
bold as used in the passage.

51. Compete
1. Fight 2, Strupggle
3: Defeat 4. Participate
b. Pursue
52. Stress
1. Strain 2, Anxisty
4. Emphasise 4. Burden
5. Suffer
53. Persisted
1. Fixed: | 2. Insisted
3. Applied 4, Determined
E. Continuad g

Directions (@s. 54-55); Choose t.hr word which is
maost OPPOSITE in meaning of the word printed in bold

01 e in fhe st

Directions (Qe.56-60): Read each sentence ,:Gﬁ@d H‘m

U out if there is any error in it. The error, if any, be it

one part of the sentence. The number of that part Iy the “&

(1t w qﬁuq;é (2¥ he torn
n lh.ﬂd.ﬂ].[n.él[ (4} Mo ervor (5)
i tation nﬁn (¥ datn:lwfthe
e mn::%{ﬂn—iu divided (3¥ in its

Directions\(@s. 61-70): Which of the phrases (1), (2},
@, (4] given below cach Sentence should replace the
phrogé pmﬂed in bold tyge to make the sentence gram-

Euﬂy m.rmel?'!f senfernce is eorrect, mark (8} Le
‘Mo mn‘m!mn rqq&mi as the ariswer.

Gl Hm pl are hesitate to volunteer for
in a foreign country because of
language and caltural issues.
1. hesitated to volunteer
« 2. hesitant to volunteer
3. hesitating voluntebr

1. Independently 2. Partially
3. Freely 4, Jaintly
5. Adversely . ,fﬂ\\
| 56. Disparity {7
1. Adequacy 2. Comparison l \\"\:
3. Contrast 4. Balance T
. Dissimilar <

4. hesitatingly volunteer -

5. No correction required

Salaries in state owned enterprises today have
to be in line on prevailing market rates in
order to reduce tarnover.

1. been on line with

2. to be aligned on been in line for

3, been in line for

4. to be in line with, -

5. Mo eorrection required

. As mmharnfthﬁﬂahmut.ﬂylrhldthe

opportunity to observe debates and see which

" they were resolved.

1. about they being resolved ~._

2 that it was resolved {1 .

3. to ita resolution o N
4, how they were ved - e }
B. Nﬂ WIIE':LI":I' n IL = N'\. :‘H-\.I'
. The Board B any proper -

strategy to o the competi

—4, If the court intervened between
5. No/correction required

hotels are being set up across the cour-
¢ tyhrmnd.u travellers with accommaodation at
reasonable rates.

1, are to be set in

2. will be set up

3. have been setting up around
4, were set up through

5, No correction required

. Directly the mmingcomcﬂi'm the

Board called for the Chairman's resignation.
1. No sooner had the meeting commenced than

% h= soon as the meeting commenced when

3. Hardly did the meeting commence

" 4. Soon after the meeting commences that

5. Mo correction required

H,,Th&[llrﬂ-chrﬂlﬂthlthadidnﬂwmtmnﬁ

neither of the student who had failed and
ordered them to leave.

1. none of the stodents 2. one of the student

3. each of the student 4. any of the students

&. Mo correction required

He was determined in completing the project
despite opposition from the union.

1. om completing 2. to complete

3. for completion 4. about completed

5. Mo correction required

In his mﬂ:.h he failed to emphasize the only
great 'reasan whj.r lluwrnm-ent prografmes
have not benefited the poor.

1. greatest reason why 2. only greatest reason
3. only greatest reason ford. great reason because
5. No correction required



Directions (Qs. 71-80): In the following -passage hours. What is the speed of the bus?
t.hereb:re Hun.h -ﬂnj;{{whi::ihm been n:;nbcrdd- ;ﬁ L 72 Kmsa/Hr. 2. 60 Ems.Hr.
numbers gre prink ow the pOSsage Gna GEGLNE 4. 68 Kms. /Hr. 4. Cannot be determi
fire words have been suggested, one of which fills the 's. Nane of these . -

iately. Find out the iate word i .
blanks appropriately. ol [ DPPTOPTINE. JoTs: 1N 87. If (9)® is subtracted from the square of a num-

each case. ’
Amid rumours of the government planning a erack- mm“r so obtained is 567. What is the
down on stock speculation, the Shanghai stock index 3 .
..... (71)....8.5 percent on February 27th, its ....(72).... one L 36 228 342 4. 48
i day drop in a decade......(73)....usual for China's stock 5. Nome of these
markets, investors in New Yourk's equity markets saw 88. What would be the simple interest obtained on
| this and sent the Dow Jones industrial index dowm more an amount of Rs. 5,760 at the rate of & p.c.p.a.
than 400 points. The drop in Mew York's index in turn after 3 years?
..... (T4)... fear in markets across Asia the following day 1. R=. 1,036.80 2. Rs. 1,688.80
and suddenly stock-indexes mcross the world.....(78).... 3. Ra. 1,336.80 !ff:l:x.ﬁa 1,063.80
This chain reaction plainly ...(T6).... the increasingly 5. Neme of these {
- A77)... place that China now osccupies in the minds of What
global investors. [ta extraordinary economic run has been - 1 48 hmwzg\‘u
the key renson for ....{78).... demand for everything from 323 2.43 8, “‘“{/ 4. 42,957
copper to cars much to the ....(79)... of multinational and 5. None of these
Chinesk investars— alike, But while investors are right #0. The Dﬂ"‘ﬂ-méﬂil! umbers is 8556,
about China's growing economic importance to the world m‘ h
they are still confused about how to ....(80)... a decline in 4,92
Chinese stocks.
Tl ; iﬂﬂg‘&d 2. fallen 3. triggered 4, Eﬁj!\ﬂd a1 n:h:m ¢h.[w his
. alipe than cost price. If a
72. 1. substantial 2. significant 0,880 for a DVD Player, then
3. dismal _ 4. biggest I}ﬁtpﬂunﬂhﬂ.ﬁ"ﬁl’hynr?
+ 5. peak .B.800 3. Rs 9,500 4. Ra.9,200
73. 1. However 2. Being 3. Despite 4. Because 5] _
i 5. Though . 92 What be the compound interest obr-
74. 1. heighten 2. fuelled 3. predicted 4. ignored — 3 o an amount of Rs. 3,000 at the rate of
5. instil . / -8 ]H‘.'.p.l. after 2 years?
76. L1 stumble ° 2. corrected 3. tumbled 4. stabilised y _, 1 Ra 50150 2. Rs. 490,20
«5. dive . ‘~ W /‘*E" Ra. 485 4. Rs. 510
78. 1. reflect T 2 strengthened <‘“& *11 5. None of these )
3. caused . 4, demonstrated What is the least number to be added to 4321 to |
5. emphasis o \‘-\_ \‘\\, make it a perfect squara’
77. L. privileged 2. prominent ) 1. 32 2.34 3. - 4. 38
3. tangible 4. feasible \ ‘\\ 5. None of these -
5. worthwhile A 94. 45% of a number is 255.6. What is 25% of that |
78.. 1. varisble 2. risen 3. fallen 4. vulklik number? '
| 5. soaring 1. 162 2 132 - 4. 162 4. 142
i 79. 1 risk 2. dutnmm(/\ 7/ /\ 5. None of these
i 3. benafit 4, mp-m Hn 5 thdmmu&td&m
B. concern .,.-" -.___-? "'\. -_,-' mlp mlg “lp Hﬂ' m m
BO.- 1. interpret 2. deal’ 3. cape f;q:ﬁa@r&‘aﬁf 1. 309 2. 428 3407 4. 415
5. indicate [ s | 5. None of these _
. r * / | 86 If (787 is subiracted from the square of the
rq.h,g-;; .’ é:.me Euuql“ : number, the answer so obtained is 6460, What
N . il - P | is the number?
question mark (?) in ﬂl-EH_:.]'_ F N ! 1. 108 2 111 3. 113 4 115
8L mdm-;‘éf } E H}d - i 5. None of these
LT . X ‘/55\ L, S | 97. In an examination it is required to get 40% of
5. N“M':'Hh [ the aggregate marks to pass. A student gets 261
| 82 124 x 128t o ) | marks and is declared failed by 4% marks.
1. 127 x"; “mﬁ x; 12" 4.1277 ! What are the maximum aggregate marks a stu-
5. Nnnf of thess ™ | dent can get 7
83, 1222 #2221+ 23012 -“f | 1. 700 2. 730 3. 7456 4. 765
1,;25&{;;. 2. 256. 59;” 3.250.06 4. 255.05 i 5. None of these
| 88 Finku, Hinku and Tinko divide an amount of
B4. IB-IT%HB:-: Jm? | Rs. 4,200 amongst themselves in the ratio of
L1252 J45¢ . 3.106 4. 8.5 | 7: 8 1 6 respectively. If an amount of Rs. 200 is
- B. Nome of g ) ! added to each of their shares, what will be the
B5. TB+5+06="1 . new respective ratio of their shares of amount?
1. 1586 2. 312 378 4204 : LA %6 4.7:9:5
5. None of these i 3.7:8:86 4.8:9:7
H&h&umudntlmeﬂammmﬂ | & None of these"



88, Ms Suchi deposits an amount of Rs. 24,000 to

obtain a simple interest at the rate of 14 p.c.p.a.
for & years. What total amount will Ms. Suchi
get at the end of B vears?
1. Rs. 52,080 2. Ra. 28,000
3. Ra, 50,880 4. Rs. 26,880
5. None of thesse

100, The average oof 5 consecutive even numbers A,

. By C, D and E is 52. What is the product of B &

E?
1.2812 2. 2688
&. None of these

10L. The diference between 42% of a number and
mdﬂlapamanuhariuilﬁ.mhﬂﬁi-nf
that number?

3. B024 4. 2800

II. Simple interest accrued in 10 years is equal o
the principal.
lm.“'hﬂllthanmberuftmupllntedinﬂmﬁald
in rows and columns?

I. Number of columns is more than the number of
rows by 4.
II. Number nftmu.m each column is an even number,
108, What is the area of the right angled triangle?
I. Huight of the triangle is three fourth of the base
IL Disgonal of the triangle is 5 metres,
" 110. What is the father's present age?
L Father's present age is five times the son's pres-
ent age,
II. Five vears agno lhu,ﬁthe a,ge was fifteen times
the som's aze that ﬁllnr .

5. None of these . carefully to answer ¢ E
102 What approximate value should come in place of
the question mark (?) in the following question? Profit earned Companies
4275 + 46 % (21PF = T ’
18795  2.3800 ~ 5.8810  4.3875 Protit = .
5. 39495 i 100 L ,m‘ -
103; A canteen requires 112 kgs. of wheat for a week. | ol ot N
How many kgs. of wheat will it require for 88 =£ { A ‘_,-f" _ o
d.ﬂfl? m N . f/ & -
T - N~ A~
Ly i ) _\__\__.-
5. None of these Jff xy \\& —* =¥ Vi
104, If an amount of Hs, 41,910 is distributed equal- ] 4-0 M _\\ }/ .
ly amongst 22 persons. How much amount - _|'E3E- .
would each person get? "--E ] / \?_."/
1. Rs. 1,905 2. Rs. 2,000 < T -,
3. Bs 1,885 4. RB=. 2,106 A ’;..-{E
5. Nane of these 4 "A B €& ' D E F G

105. The cost of 4 Cell-phones and 7 Digital cgm- |

eras is Hs. 1,25627. What is the cost of & S
Cell-phones ad 14 digital cameras? f'_ e
1. Ra. 2,51,254 Ny

2. Rs. 2,52,627

3. Rs. 295,524 f \\\ “x f,
4, Cannot be determined

5. None of these ’ﬁ\/ f\;

Directions (Qs. 106-110): Each of ﬂumqm:&
below consists of o question and fwo smmmﬁnu}abgred T
I and Il given below it. You hove fo Lﬁa«*w&tﬁﬂ;fﬁqf
dumpmudmfmﬂ;emmmnhmmfmmm
the guestion. Read both the statements and Gplfdi'r.a
1. if the data in Stnr.em.e “alongaré

answer the guestion, w  the data in Staterient ].I

alone are not suiﬁmm to a.n‘hwer ﬂ:é‘qqeuunn
2. if the data in en'ﬁ[ ient to

answer the g li-u dnta Statement 1

alone are not 8 1 andwer lEar'huthm
:!.il‘thedatam&g;-:n Ium..nimﬁtulmngut.ﬂ
4. if the datadn bith the s6its T and I1 are ot suf-

ﬁmm: t nm“ﬂl—ﬂm m.l.@hnﬂ’
5. if Mmmmeaﬁmu[mnm
ssury tolaf@wer the question.
mu. What is the area of the circle ?
I. Peri of the circle is 85 cma.
II. Diameter of the circle is 28 cms.
107. What is the rate of interest ?
L mimple mnterest accroed on an amount of Rs.
25,000 in two years is less than the compaound
interest for the same period by Ra. 250

Companles

| 1l What is the ratio between the profit earned by
Company A in 2004 and the profit earned by
B in 2003 respectively?
1.4:3 2.8:2 3.3:4
§. None of these ,
What is the difference (in Crore Rs.) between
the total profit earned by Companies E, F & G
together in 2003 and the total profit earned by
these companies in 20047
1.7 275 3. 78
5. Nome of these
What is the ratio between the total profit
earned by Company C in 2003 & 2004 together
and the total profit earned by Company E in
these two years respectively?
1.11:9 2.9:10 3.10:11
| 5. None of these '
What was the average profit esrned by all the
companies in 200437 (In Crore Rs. Rounded-0O4r
to two digits after decimal? -

4.2:3

4. 82

4.11: 10

1. 52.75 2. 53.88 3. 62.86 4. 53.75
" 6. None of these
| 15 Profit earned by Company B in 2001 is what
{ pﬂ‘utufthnpmﬂtmuadhythamwmpn—
J ny in 20037
113333  2.75 " 3.6766 4. 75.25
5. None of these

Directions (Qs. 116-120) Study the j‘bﬂawing
table carefullly to answer these questions.
Table giving percentage of unemployed Male and
Female youth and the total population for difffer-
ent States in 2005 and 2008,




[ 005 2006 'l
STATE M F T M F T
A 2| 15| 82| 7| 8| 35
B ] 7 18 10 # 20
C L 10 28 10 12 34
D w| 6| 24| 8| 8 | 30
E ] B 30 T ] a2
_F 7| 5| 28| 8| 7 | 35

M = Percentage of unemiloyed Male youth over total |
population

F = Percentage of unemploved Female youth over |
total popuation i

T = Total population of the state in lakhs

there in the row?
1. 35 2 36
§. Mone of these

125 In a certain code DUPLICATE is written as
MREVFJFVBE. How is CARTOUCHE written in

3. 37 4 3

that code?

1. UTBEPFDJF 2. UTEFGFJDW
3. UTEEQFJDW 4, UTBEFFJDW
5. Nome of these

128. Four of the following five are alike in a ¢ertain
way on the basis of there positions in English
al.]ﬂl-!bﬂlhﬂlﬁﬁurmag’:nup. Which is the one
that does not belong tp\\thlt Eroup?

|
|
| 1 I-I.]'G 2,

116. What was the total number of unemployed | QN (f 0 4. TIE
youth in State A in 20087 | 121, th in the
1. 2,20,000 2. 8,25,000 i : cﬁl ere in
3. 5,20,000 4. 5,25,000 | word PHYSI bhas as -y
5. None of thess | letters br.twmx ﬂlﬂl—.ﬂl the alphabet?

g ' 1.None /2 One 3. 4. Three

H'I.Huwnmflmllumﬂl“nunmplwcﬂm| 5. More thaii three =
State D in 20057 ' B .
114400 2 144000 5140000 4 14000 | ey E% i - et g ol e
£ Toes of hans : ‘;w]i{:iu r will hﬂ; hu?;h ::'

llﬂ.NumhrufunuuﬂwudmhywthlnBuuA' i( ler?
in 2006 was what percent of the number of | X/ oo
unemployed female youth in State E in 20067 A\ :.’IGT )

1.66 2. 50 3. 200 4,133 N -2 3. 656 4. 865
5. None of these o B\l _ :

118, What was the difference between the number 4 126 tn.a certain code RAIL is written as 5796 and
of unemployed male youth in State F in 2005 | . JAFE ;Hhﬂﬁﬂﬂ How is PAIR written
and the number of unemployed male youth in | - . Im code
State A in 20067 , : / ' =L4,TEE 1.4786- - 3.3795 4. 8795
1. 70,00 2. 45,000 d. 68,000 4. 65,000 ", _.-' E one of theas .

5. None of these “ \\ }ﬁﬁwﬂﬂuﬁﬂnwmiﬁwmaﬁkehacwﬁm

120. What was the respective ratio between unem- e, way and so form a group. Which is the one that
ployed male youth in State D) in 2005 and the o S \\ does not belong to that group?
unemployed male youth in State I in 2006 7 A ——— x_, 1. Rose 2. Jasmine
1.1:1 22:3 3.3:2 4.4:5 < S 3. Hibiscus 4. Marigold
5. None of these ~ T““H,\ 5. Lotus

REASONINGABILITY| [ | . Direction (Qs. 131-135): In the following ques-
121. How many meaningful English words < \\“‘f mfﬁfw:ﬂr;;ﬁ;fund%mmdwﬁhﬂﬁ
formed from the letters 'ACER' muﬂ"hqph j{,x& ,.-"} I"“‘“ﬂﬂl . .
‘ter only once in each word? ¢ .y P& Q means P is not smaller than .
1. None 2, One 3. Twe -l?‘mgee ., - 'P # § means ‘P is not greaténthan Q.
5. More than three 7 P § Q means P is neither greater than nor equal to Q.
122 If in the word rwullIEH. all m}"ﬂﬂh lﬁ‘“’" ‘P& Q means P is neither smaller than nor equal to @',

consonants are arranged setically and

then all the vowels are replaced by the previ- |
ous letter and all nsomant fire replaced |
by the next letter | En alphabet, '
w]u'.cll letter wi.]llﬂ-l‘.hn the pight end |

3 M 4V :
5. Hmufum{ ﬂ 7 -
123, If'AxB ‘Bmfattisrnl!lci'.'.hl-]l' meAns |
‘A is wife and ‘A + 'Als brother of |
B'th-unﬁrh#iltlm llli;lﬁnnfdmthLm'J-l:
+H:H:LT' o !
;m‘w.-r f,?f :

3. m—lam

4. Cannot uﬁ:nmad
5. None of

lﬂi.lnamwnfchlldmnﬁmniﬂuﬂh Ihtnuhu
twelfth from the left end. Sudhir who is twen-
ty-second from the right end is fourth to the
right of Ritesh. Total how many children are

'P % Q means 'Pis neither greater than nor smaller than €.
Now in each of the following questions assuming the

| given statements to be true, find which of the two conglu-
. sioms I and 1T given below them is/are definitely true?

Grive answer
1. if enly Conclusion I is true.
2, if only Coneclusion IT is true
3. if either Conclugion I or IT is true
4, if neither Conclusion I nor IT is true
&. if both Conclusions I and I1 are true..
. Stafemenis:
VEWWaTT#H
Conclusions: [. VOT.
T IL MW,
132, Statemenis:
HEMM@E E§C
Coneclusions: 1. C O M
II. HOW
138, Statements:
NaJJ%REREEH



Conclusions: I. E# N
II. N&H
134. Statements:
LeaK EDAASW
Conclusions: I. WEL °
- II. LW
135. Statements:
JeRR2D,DaF
Conelusions: [ FER
II. FR

Direction (s, 136-140); Study the following infor-
mation careflly fo answer these questions:

Eight friends J, i, L, M, N, O, P and § are sitting
around a circle facing the center. J 15 not the neightbour
of N. L is thirgd to the right of K. Q is second to the left of
N who is next to the right of L. O is not the neighbour of
N or K and is to the immediate left of P.

138, Which of the following is the correct position of L?
1. To the immediate right of N

2. To the immediate right of Q

3. To the immediate left of J

4. To the immediate left of §

-b. None of these

157. Which of the following pair of persons repre-
sent s neighbours?
1.LEN 2PEE AM&EPF 4 NEP
5. None of these

135. Which of the following groups has the first per-
son sitting between the other two persons?
LPKJ  2.JGL 3 QNL 4 LMN

5. None of these /

138. Who is to the immediate right of K ?
1.J 2. P 3.Q
4. Cannot be determinedf 5. None of these
140. Who is to the immediate left of 07
LP 2L 3.q 4.7

. None of these
| Direction (Qs. I141-145): In each os the guesti
| below are given four statements followed by three
| ston numbered I, IT & IT. You have to take the give

All onlons are potatoes {
| Hu-putnhfiuginser . \_\" g

?ﬁ ' ﬂruynm:ms
3. Only { & 11 follow ™. i,ﬂnJ;.rlEI]IH:]]mr
5.All ﬁn“u-w L

sén;ghmuﬂmnf
bers

142 ?

.&J:I num

All letters are words

Conclusions
1. Some locks are lotters
II. Some words are numbers
III. All'numbers are words

| ments to be frue even if they seem fo be ai variance \_\\r"
commaonty knoun facts. Read all the conclusi 7
decide which of the given conclusions fodlo e
from the given stafements disregarding comn k -

i facts. i z_.r’- f,} ___"“x\. z}'

| ML Statements [ LT TN S

| AN chillies are garlics | > ~~ |

Boms garlica are omions 'h__ﬁ,«f;_ .

1. Only I & II follow
3. Only I & III follow
4, Only [ & either IT or ITT follow
5. All follow

143. Stalements
Some windows are doors
All doors are walls
No wall iz rool
All roofs are shelters
Conclusions i

L Some windows are walls

II. No wall is shelter

1. Mo door is shelter "
1. None follows /f
3. Only I & III HI
6. None of these,

144, Statements \

All bottles >
Sume;m pats
All pots

II.LBume jars are tanks

2. Omly IT & I1I follows

Iy 11 &HI follows

2, Only I & 11 follow
4. All fallow

I. Mo snake is frog I
II. Some sankes are fish
III. Some fish are frogs

1. None follows 2. Only I &I1T follow

3. Only I & 10T follow 4, Only I & IIT fallow

&, None of these !

Direction (Qs. 146-150): In each of these ques- |
Mnmnfﬂﬂhhﬂmﬁﬂmdbyﬁurm ;
bmﬂmufkﬂ!ﬂmdwbdlmmhmﬂfﬂ 2 |
(3) and (4). Thmafd‘ﬁihi:mkmdudnm
the seheme and conditions given below. The serial |
number of the combination which correctly repre- |
sents the group of digits is your answer. I.fnnneur!
mwmmhmt,mrmrurﬂ
i.e. ‘None of these',

DIGITS: |5[8)4]3]elzfe]o[7]1
CODE: |T[J|s[#[H]g alL]=|K
Conditions:
i. Ifthe first as well as the last digit is odd, both are o
be coded as ©. |
ii. I the first well as the last digit is even, their codes
are bty be swapped,
idi. - If 0" is the last digit, it is to be coded as #
148, 270514 |

1. B%LTED 32, ﬁL’I‘!{Q SQ‘ELTK!- 4, $%*TRR |

5. None of these . . |
147. 364279 - I

1. SHSQHD 2. mmm 3. EHSQ‘H 4. #HSQRE

5, None of these
148, B75306 _

L JSTWLH 2 HRTWLH 3. H%THLJ 4 J&TeLd |

5. None of these !




145, 592476
1. HeQ4%T 2. DaddmT 3§ HeQiwd 4. ©8Qi%ms
6. Mone of these
150. 488910 i
1. $HJGKL 2. LHJGKS 3. xHIJGKS$ 4. $HIGKx
6. Nene of these
Direction (@s. 151-155): These quﬂﬂm are
based on the following information: '

'A & B means ‘A is added to B _

‘A% B means ‘A’ is multiplied by B,
‘A# B mesns 'A ia divided by B,
‘A $ B means ‘B is subtractad from A"

In each guestion, some information is given. You have
to find out which expression correctly represents the stat-
ment:

151. Total age of 12 boys is X' and the total age of 13
girsl is Y. What is the average age (A) of all the

boys and girls together?
1. A = (X@Y)025 2. A = (XSY)#25
3. A = (XaT w25 4. Cannot be determined

6. None of these :
152. Population of state M (P1) is less than half of
population of staté N (P2) hy 1, 50,000
1. PE=(P18#2)81,60,000 2. Pl={P2#2)@1 50,000
3. P1=(P2#2)$1,50,000 4. PAP1#2)@1,50,000
5. None of these

153, Number of boys (B) in a class is equal to
one=fourth of three times the number of girsl

(G) in the class
L B={3¥G)%d 2, B={ 340 s
5. B=(34 G4 4. B={350H4
6. None of these |
154. Salary of Mr. X (51) is more than 406% of Mr. s
galary (S2) by Rs. 8,000

1. S1=[824{40@100) #2000
2, B1={52%(40#100M82000
3, 2=[51 & (404 100)EE000
4, S2[51 sl 4081000 #B000
" &, Mone of these
155. Marks obtained by Sujit in History (H)
of his marks obtained in Science (M),

1. H ={100#85)%M 2, H-ssﬂlg*uv
3. H=8541004M #, He{B5# 100)%M <\
5. None of these

Direction (Qs. 156-160): In g\é %
tipns given below which one
wres on the right should come
urnmlhhﬂ.rfthrnqwmwr
156. Problem Figures . /

3

4

—

\ T\"“}: _ V/ Personal source and commercial souree
" ¥ ,.-"”f 2, Public souree
s % 4 3 Experiential source

e

4
&V

4, All of the three abiwve
&, Omly (1) and (2)
162. Zero-Based Budgeting (ZBB) means
1. A tool for marketing cost analyeis
2. A tool for financial analysis
3. Each year, budgeting starts from a seratch
4. A certain percentage of sales
B. Only (1) and (2)
163, The advantages of telephone interview are
1. Relatively low cost per interview
2, Good for reaching important people who are
inaccessible
Securing co—operation which is not always possible
4. All of thess
5. Ooly (1) and (2)
164. The abbreviation ISP stands for
1. International Spy Project
2. Indinn Social Planning
3. Initial Service Provider
4. Internet Servics Prnnder
5. None of thess
165, The best advertisement is
1. glow sign boards 2, on inbernet
3. TN, Media 4. Print Media
b. A satisfied costomer . '
166, Acid-test of a brand is

3.

1. brand preference 2. brand awareness
3. brand acceptahility 4. brand lovalty
5. brand equity '

167, In banks ROA means

1. Rate of Allocation 2 Raturn on Assets



3. Return on Advances 4. Ratio of Assets

&. Only (2) and {3)

- 168. ]nthemntmnfninhﬂlﬂthn:ﬂ?ﬂm

1. British Petroleum Organisation !

2. British Passpart Office

3. Budgeting Process Drtenm:nn

4. Busineas Process Orientation

5. Business Process Cutsourcing

, 188, Which of the following expresses Maslow's |
Motivation Theory best? i
1. Importance of motivation of customer development
2. Why people are driven by particular nead at par-

ticualar times,

3. Where human needs are arranged in a hierarchy
4. All of thesea
6. Only (2} and (3)

l'!'ﬂ. SWOT analysis refers to
1. Marketing tool to urderstand constraints and

potentials of self and competitor

External environment analysis

Internal enviroment analysis |

Strategic planning for selling product

South-West orgamization for trade

Wl:lu':]:l of the following forms the highest share

in household savings in India?

1. Deposits 2. Currency 3. Share & Debéntures

4. Real estate 5. Physical asset

172 This component is required to process data
into information and consists of integrated cir-

;o e B

171

cuits.

1. Hard disk 2 RAM
3. CPU 4. ROM
5. None of these

173. In today's changing banking scenario, aggres-
sive promotion of business is necessary where
the competition exists on

1. Branch up-keep

2. Expeditious service £~ ™~

3. Use of advanee digital tachnology £

4. Delightful customer service H,:}

&, Alll of these i f A
174. Which of the following wmhfw.”f

instrument of payment, is called- plasti

money? i " i

1. Identity card / e '~:‘“‘«J}

2. Plastic card % ~ ) 1

3. Debit card B
4. Greeting card {ﬁk‘ F,
5. Banker's cheque ~, \\\ Rl

1. A person iit'l‘l.'lg' .

2, A person drafts issued

3 A pnergcﬂl'l E muinmg a loan/deposit
aempt |

4. A pe‘;d.nn 'r!g'u.]arh- g bank drafta encashed

& A“P@ﬂ'm ﬁm:um:n;m agent for a person main-

hl.g i iumenﬁmtmt
176. Iniugh, $&-ﬂvmummnﬂdarﬁ] as
1. aseets 3
2. liahilities
3. respurces -
4. cause of expenditure
4. None of these

177, hthamnfiiuh.ﬂuﬂnndhuiua-,ﬂﬁ:ﬁ

~

T2

1. Money & Assets
2. Marketing & Alliances
3. Mergers & Acquisitions
4. Means & Acquisition
5. Markets & Acquisitions
178. I understand marketing as
L. Only zelling
2. Meeting human & social needs pmﬁtuhly
3. To focus on customer
4. Focus cnly on producing geods’ service
B. Omly (2) and (3)
178, For an economic organization like bank, MIS

MeANs
1. Middle Income 3&:@
2, Management 'Inqn ﬂ-yéhq:
4. Managemen! nl'&:rn{ﬂ.mh& E!ﬂunm
4. Marketing lnfﬂl‘lnqnun E:-'.q-ten'r
6. Only (2)and (41 _
180, The sheet-of @ organization gives

regarding

i’hunf ~:parﬁcularperi:rd
I 'x as on a particular date

ting effitiency of the firm

iE:i

3. the

i
-,

/\I\ﬂ.l{nmﬂﬁm during a particular period
the o health of the firm
51\%0? for -

Barvme- n'!'P'rnmiiﬂ-
System of Projects
4 Emph:.rm Stock Option Plan
B. Essential Security of Police
Omne advantage of dial-up Internet necess is
L. it utilizes broadband technology
« & it utilizes existing telephone servies
3. it uses a router for security
4. mudem speeds are very fast
1. None of these
183. What is backap?
1. Adding more components to your network

2. Protecting data by copying it from the original
gource to a different destination .

I"iltering old data from the new data
Accesging data on tape
Nowe of these

;

3,
4.
5.

. 184. Network componets are connected to the same

“hh in the Hn-h-r-n-tﬂ'w{ﬂ'w-
1. star 2. ring 3. bus

&, mixed

4, mash

EIH.Mnrmmmmwhmmtedtthh

other for sharing information form a

1. network 2. router
3. server 4. tunnel
5. pipeling

186. A computer chocks the ....of user names and
passwords for a match before granting access.

1. website 2. network
3. backup file . 4. database

| & Mone of thess

187. Computers that are ]J-nrtnhle and convenient
for users who travel are known as
1. supercomputers 2. laptops
-4, minicomputers 4. fila servers
4. None of thess
-188. What is the term for unsolicited e-mail?

1. newsgroup ) 2. usenst

2 harkhana

4 fAlarsies



s BRI

189, What type of program controls the various

computer parts and allows the user to intéract
with the computer?

1. Utility software

3. Dperating system |

3. Word processing software

4, Databanse program

5, Nene of these

180. Each cell in a Microsoft Office Excel document

191,

iz referred to by it cell address, swhich is the
1. cell’s coloumn label

2. cell's colomn label and workshest taly name
3. cell's row label

4. cell's row and column labels

5. None of these

Which of the following is true?

1. byte is & single digit in a binary number
2, hit representa a grouping of digital number
3, might—digit hinary number is called a byte
4. eight—digit binary number is called a bit

6. Mone of these

192. Office LANs that are spread geographically

apart on a large scale can be connected using &
corpornte
1L.CAN |

2. LAN

3. DAN
4. WAN
5. TAN

193. What is the process of copying software pro-

grams from secondary storage media to the
hard disk called?

1. configuration

2. downlead

3. storage

4. upload

B. installation ¥

184. The code for n Web page is written

L a fifth generation language
2. WinZip
3. Perl

4. Hyperatext Markup Language
) 5. URL E l:—“
185. Small application on a Web

187,

page and may ensure a
eraly or provide ani
1. Flash
2. Spiders
3. Cookies
4. Applets

5. Sparks J
196. In o 1 s this is a data struc-

information about a

5, Comm lifie itnerface

The first computers were programmed using
1. assembly language

2, machine language

3. souree code

4. object code

b. apaghetti code
198. When 'the pointer is positioned on a it is
shaped like a hand.
1. grammar error
2. hyperlink
3. screen tip
4. spelling error
5. formationg errpr
189. Which process checks to ensure the compo-
nents of the computer are operting and con-
| nected properly 7
1. Booting
2, Procesging
3. Boving
4. Editing
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